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%SC CET Mains Staff Nurse Question Paper 31 Dec 2023

are the smallest functional

units of the body.
(A) Tissues (B) Cells
(C) Fibres (D) Cartilages

(E) Not attempted

is nonparametric test.
(A) Students t test

"(B) Chi-square test -
(C) Z test
(D) ANOVA
(E) Not attempted
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3. Psychoanalysis is propagated by
(A) William James
{B) Sigmund Freud
(C) Wilhelm Wundt
(D) John B. Watson
(E) Not attempted

4. The book Ignited Minds’ was written by
(A) A. P. J. Abdul Kalam
«(B) Salman Rushdie
(C) Atal Bihari Vajapayee
(D) None of the above

(E) Not attempted

is the process of taking
corrective action in order to meet
objectives.
“(A) Decision making
(B) Implementing
(C) Evaluating
(D) Problem solving
(E) Not attempted
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6. which of the following lets you to find

the text and automatically replace it
with something different ?

(A) Goto
'(B) Easy text

(C) Copy

(D) Replace

(E) Not attempted

1. marriage is the form of

marriage in which one man marries
one woman.

(A) Polygamy
(B) Group
(C) Polyandry

(D) Monogamy
(E) Not attempted

The Universal Declaration of Human
Rights (UDHR) was accepted by the UN
through its resolution on

(A) 24™ December 1945
- (B) 10" October 1948
(C) 10"™ December 1948
(D) 10" December 1945

(E) Not attempted

9. The word “rubeola” means
(A) White spots
“(B) Red spots
(C) Bluish spots
(D) Black spots
(E) Not attempted
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10. B isldvﬁn?das theinﬁnmnmtinn 10
(,;' ]ti};: conjunctiva during first month - o B M & oz wh F A
"(A) Conjunctivitis e X UE| ﬂ‘| » wHwa Fﬁ
(B) Microphthalmia (A) #af;
) wAfarfafrg
(C) Anophthalmia PN
(B) wrgsmmeifaten
(D) Ophthalmia neonatorum (C) varifarrn
(E) Not attempteq (D) smpdetfira vz
(E) srwnfaa
11. The nervous S
ystem consist > ) § 3HTEAT B
number of units called e o g F‘:ﬁ i
| m ) el Al 7 |
) Neuroglia  (B) progons pifierm e
(C) Proteins D " -
/
oA (D) Neurones (C) S IrAC (D) RLITTG E;@
ot att :
empted (E) Tt o4
12. Cooking in water at 10 i '
T et 0 degree 12. 100%mﬁzﬁﬁ3qw;ﬁﬁmmﬁt
(A) Roasting  ,(B) Bojlin, e e
; g (A) Tfeem B) &
(C) Steaming (D) None of these (C) ifim . A
(E) Not attempted (E) FAvarfa - ﬁg ?ﬁ
13. Iron requij :
s _":’T‘;ﬂg Pregnancy is | 13, miaen % W 3w € NI
14) 1500 B) 2000 o Torefiom 2
(€) 2500 /D) 1000 Al 1500 (B) 2000
(E) Not attempted 5 8600 (D) 1000
(E) srwafyg
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15. Aresearch degjon -
researcher relateg
future is a

Which the
pTCSent to the

(A) Retrospective rese.
. arch deg;
(B) Ambispectiye resear <
o | ch design
+(C) Comparative research ¢
' esign
(D) Prospective Tesearch deg;
gn
(E) Not attempted
m
i
16. keyboard is g soﬁwarfl .
device that let you to input data Jjust

like a hardware keyboard.

(A) Standard 7 (B) Ergonomic

(C) Compact (D) Virtual

(E) Not attempted

17. ____ is a set of values recorded
on one or more observational units
or the factual information collected
during research studies.

(B) Parameters

+(D) Data

(A) Variable
(C) Scales
(E) Not attempted
forms the major part of the

human brain.
#(A) Hypothalamus
(C) Medulla

(E) Not attempted

18.

y(B) Cerebrum
(D) Thalamus

19. __.—-——-_'-'—-
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16.

17.

18.

19.

(B) Ambispective rese
(C) Comparative research design

(D) Prospective research design
(E) Not attempted
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keyboard is a software
device that Jet you to input data just
like a hardware keyboard.

(A) standard " (B) Ergonomic

(C) Compact (D) Virtual

(E) Not attempted
is a set of values recorded
on one Oor more observational units
or the factual information collected
during research studies.
(A) Variable (B) Parameters
(C) Scales »(D) Data
(E) Not attempted
____ forms the major part of the
human brain.
#(A) Hypothalamus ¥(B) Cerebrum
(C) Medulla (D) Thalamus

(E) Not attempted

is known as infectious

hepatitis or epidemic jaundice.

(A) Hepatitis B (B) Hepatitis C

(C) Hepatitis E  "(D) Hepatitis A
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(E) Not attempted
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20'

21.

22.

23.

24.

is the direct vi g

sualizati
of a l?ody system or a part 1;1 ization
of a lighted flexible tube S

(A) CT Scan

(B) MRI

4C] EﬂdOSCopy
(D) Chest x-rays
(E) Not attempted

These are the chemical compounds
synthesized by endocrine glands

(A) Gases
~(B) Hormones

(C) Nutrient materials
(D) Antibodies
(E) Not attempted

R is the immunity that
is transferred to a recipient in &
readymade form.

(A) Passive immunity

(B) Natural active immunity

/(C) Artificial immunity

(D) Active immunity

(E) Not attempted

Fertilizable life span of sperm is

(A) 13-47 hours -(B) 48-72 hours

(C) 73-80 hours (D) 6-12 hours

(E) Not attempted
The error in measuring the current

with a tangent galvanometer is
minimum when deflection is about

(A) 30° / (B) 45°
(C) 60° (D) 0°
E) Not
(E) Not attempted .
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25. 18 the issuance of a false
statement aboyt another person

which causes th
at person to g
h . uffer

(A) Invasion of Privacy
(B) Fraud

(C) Battery
(D) Defamation
(E) Not attempted

invented a powered loom
that used punched wooden cards

to automatically weave incredibly
detailed patterns including pictures
and text.

, (A) Blaise Pascal

26.

(B) Joseph Mary Jacquard
(C) Napier’s Bones

(D) Gottfried Leibniz

(E) Not attempted

27. The word theory comes from the
Greek word

(A) theorium
(B) theoretia
(C) theoryia
/(D) theoria
(E) Not attempted

28. Which among the following musical

instruments is used during Dhamal

dance form in Haryana ?
(B) Deru

(A) Damru
(D) Daf

,(C) Dholak
(E) Not attempted
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29. Varicella is an acute, highly infectious

disease caused by
(A) Influenza virus
; (B) Varicella-Zoster virus
(C) Rubella virus
(D) Polio virus
(E) Not attempted

eans when the

Prolonged labour m
second

combined duration of first and
stage of labour is more than
hours.
(a) 17
.(B) 18
(C) 15

(D) 16
(E) Not attempted

30.

is a composite graphical
record of key data (maternal and foetal)
during labour, entered against time in
a single piece of paper.
(A) Cervicograph
(B) FHR chart
_AC) Partograph
(D) Biometry chart
(E) Not attempted

31.

rate is defined as “the
number of new cases occurring in a
defined population during a specified

period of time”.
+(A) Incidence
(B) Morbidity
(C) Mortality
(D) Prevalence

32.

32.

(E) Not attempted

31.

T T § wag 6 fafe
wafty & A 8 T 9¢ wwe! Y g&
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(A) T
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33 = (;eelir_lg of life) denotes the | 33. (e & W) nfgen =l T;
P o ve fetal movements e oo e o1 s ) e
(A) Oslander’s sign (A) wfeetesd €rEd
(B) Goodell’s sign (B) g-ga #H1 AT
,(C) Quickening (C) T '
(D) Braxton’s-Hicks Contractions (D) gere-a - fed 13
(E) Not attempted (E) FrgaTEd
. fram 3iv arCTHAT F1 Mg
4 is the verbal 3. _
e interchange of thought or ideas. e -9a 21
(A) Decision making (A) fofg &1
(B) Coordination B) W
(©) Conflicts () werd —
ted
(E) Not attemp aaq_-{n ) .
; R ®H W e
35. Which number will come 1in the place | 35. 932, 5840, 6848, ? .
of GReEHONSEREE - (A) 7880 (B)
4832, 5840, 6848, ? 55 D) 7815
(A) 7880 - (B) 7856 (C) 78
(C) 7890 (D) 7815 () ST
(E) Not attempted o gl i -
. 36. wresle 4,
36. In spreadsheet, the intersection of 1 ST 2
. rows and columns are called as W (B) BIF
(A) cell ’/(8) fle (C) W= (D) ¥
(C) folder (D) menus E)
(E) Not attempted 2 Erq et
37 _____——Smdyisa“""a"?ple.of = 5 gt difsdt % Shfaa sl F1 0
. live experiences of tsunami victims 111 sl |
selected villages of Tamil Nad: (A) "e1-fan
(A) Phenomenological (B) -
(B) Action ©
(C) Historical (D) .
« (D) Ethnographic (E)

(E) Not attempted
9.
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38. Second generation ethanol plant

was dedicated to the nation at which
place in Haryana in 2022 ?
(A) Karnal
(C) Jind

(E) Not attempted

»{B) Panipat
(D) Kurukshetra

39. Bitot’s spots indicate
deficiency.

(A) Vitamin C  (B) Vitamin B
(C) Vitamin D (D) Vitamin A
(E) Not attempted

40. The total weight gain during the
course of a singleton pregnancy for a

healthy woman average kg
,(A) 11 (B) 15
(C) 20 (D) 6

(E) Not attempted

41. cells secrete insulin.
'(A) Beta (B) Delta
(C) Mast (D) Alpha
(E) Not attempted
42.
ureter.
“(A) Ureteritis
(C) Liver
(E) Not attempted

is the inflammation of the

(B) Gall bladder
(D) Kidneys

which we interpret our sensory input.
'(A) Perception
(B) Instincts
(C) Motivation
(D) Senses
(E) Not attempted

42.

is the organizing process by | 43.
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fopm T W T i foF T 1
¥(A) HETA /B) T
() e (D) TEEA
(E) STsramea
s, fadic ¥ TR £1 wft guid & |
w ffmc (8 B B
(c) feafim D (D) Frerfi A
(E) TS

¥ 2 g Tl Ea fpm 21
A) 11 (B) 15
(C) 20 (D) 6
(E) s
FiftrTd G &1 | HA 8 |
(A) &er (B) ST
(C) T (D) 3ATEHT
(E) vy
_ vFerfe o geE R |
(A) FETTINY (B) fame
(C) FFd (D) &
(E) rvanfaa
— IS ufea R Rre® g '
G T N =rEn w ¥
(A) Iyfa
(B) wEw gfw
(C) Tum
(D) =t 30
(E) nwamia @i,
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it CG B 8“23
.. e e of United Nations | 44, ®7# 1% T Frd#A (UNEP) F1
i gnvironment Programme (UNEP) is Bl ‘ i fom ::
situated in qere e
() Washington  (B) Geneva (A) AT (B)
(©) Nairobi (D) New York @3® (C) Aot (D) :{"ﬂ*
(E) -

(E) Not attempted b

ig defined as a person in the 45, — ;
‘5. —— 1S P —— |
ulation or study group identified i fsrrfera o Tt 2, hq#"r

popP
as having the particular disease,
health disorder or condition under a7 fufa % &1 i #1 m? |”
investigation: (a) sfaffi (B) A
(A) Agent (B) Cases D) -
(C) Host (D) Carrier () WA
(E) Not attempted (E)
; - 2 7
+6. Which among the following is the 46, frAfrEd 3§ & A-m P T
impact printer (A) TR () ¥ AF
/(A) Laser (B) Dot- Matrix (C) et D) -
(C) Thermal (D) Inkjet
(E) Not attempted (E) A
are qualities properties T fad, 3% 7 qfeuferd & 17
47. it € , : ’ a
or characteristics of person, things, fygraar a1 A4 8, & il 2 qfafad
or situation$ that change or vary. -6'17{1 -g | N
AA) Descriptive relationship (A) FUATH® ga4
(B) Constant (B)
i c) W
(C) Variables ( _
(D) Cause and effect relationshiP (D) H1 it v §aY
(E) Not attempted (E) FEa
48. The Constitution of India was 48.
enacted on
7 (A) November 26, 1950
\(B) November 26, 1949
(C) January 26, 1949
(D) None of the above
(E) Not attempted
D
Ais
_—
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49.

50. refers to the relationship
of the long axis of the fetus to the
long axis of the centralized uterus or
maternal spine.

(A) Presentation
(B) Position
/(C) Lie )
(D) None of the above e
(E) Not attempted
S1. The term

S52.

53.

is unique because it is
derived from sunlight and food.

(A) Vitamin B
(E) Not attempted

(B) Vitamin C
(D) Vitamin A

is defined as
the amounts of nutrients sufficient for
the maintenance of health in nearly
all people.
(A) Recommended timely allowance
(B) Recommended weekly allowance
(C) Recommended yearly allowance
/(D) Recommended daily allowance
(E) Not attempted

is a crime of violence
against another person.

(A) Assault (B) Fraud

#(C) Invasion of privacy (D) Defamation
(E) Not attempted

is essentially a cognitive
activity.

¢ (A) Thinking (B) Memory
(C) Calculations (D) Reasoning

52.

53.

(E) Not attempted

-12-

Join Telegram Group "HaryanadJobs.in"

1

CG - SN23
49, sreferdta 2 it a8 74 5
Y19 3R Wi @ yred g@rar 2 |
(A) fazifim B (B) farerfem C

‘?ﬁ%ﬂ- © frafmp () faerfm A
SR (k) srenfim
50. _wﬁ?ﬁqﬁmw.m
1 arg fig #) e ft & e F A
FATR |
(A) sfa
(B) 92
(C) =8
(D) 39w H & ®13 A8
(E) Twantéd
51. __ ¥g I @ @t ST 6

! ¢ W@ & fou gata 9w aaat
AT % ®9 7 gfoarfya fesar mn 2

(A) FTHa amfEs 9 9

(B) ¥ @rearfass W

(C) gwitsa arffes s

(D) Irgeifea afes v

(E) 3rs=faa

— T =fe ¥ faens fkar &
JA9Y R |

(A) BHen (B) arEr
(C) TMotar &1 AT (D) "=y
(E) rwafaa

— FEn ¥ @ v gy
nfafafy 2)

(a) faem (B) aTQ
(C) Mo (D) a9=
(E) 3twanfaa
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I 1

ﬁ: cos 20 —sin 20 .
5‘. IfA: sin29 cos 20 and A+A =1,

e I is the unit matrix of 2 x 2

wher

Jer AT is the transpose of A, then the
value of 0 is equal to

A) ?3 /B n

© 72 @) /6

(E) Not attempted

Retrospective studies are often called

55.
(A) Case control

,(B) Descriptive

(C) Cross-sectional

(D) Cases

(E) Not atternpted

ORI

(E) Not attemptcd oigcs
e is a formal tentative
57. ntative
statement of the cxpectcd.n;l;tslolr;nder
between two OT more vana
the study-
(A) Concept definition
#(B) Hypothesis

(C) Research questions

(D) Problem statement

(E) Not attempted
.13-
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o wfafam g qria
58. Haryana Municipal Act was passed in | B8. fegmon A1 m—

fapar A |
/(A) 1973 (B) 1974 (A) 1973 (B) 1974
(C) 1994 (D) 1970 f&ﬁ? (C) 1994 (D) 1970
(", mrﬁ;a
(E) Not attempted (E)
FAfaa | &
59. Brucellosis is one of the major 59. !ﬂf'i”tm e —
ZOONoSes. R _
(A) Viral (B) Fungal (A) AR (B) W
/(C) Protozoal (D) Bacterial (€) eI HAA (D) ]
(E) Not attempted (E) 33 &
60. ___isthe anomaly results 60. __ |3lﬂ"l|?f, E’I"Tﬁ In aferss $
from deficient development of the Fas! 6 afce & fasm § =1t #1
vault of the skull and brain tissue, qftory R, AferT 98t 1 97§
but the facial portion is normal. B
(A) Spina bifida (B) Encephalocele (A) TTEAT fafeer (B) feqrft q@n
“(C) Anencephaly (D) Hydrocephalus () hmfeswar (D) FEEAwEE
(E) Not attempted (E) 3Ty
= _ — is the structural and | 61. st A T i st
functional unit of the kidney. -sm .g |
A) Gl rul ~“(B
(C) Cortisol (D) Neurons Ei‘fﬁ!' C) Hffars %
(E) Not attempted . € (D) ==
(E) 3rsnfea
62. ____ isthe type of correlati
when (r = +1). il B HEHEY T THR R} 5@ (r=+1) |
(A) Perfect negative correlation (A) Tﬁ AR H am
((B) Moderately positive correlation (B) Werw gehmrays s
(C) Moderately negative correlation, (C) W FapTrae HEHay
(D) Perfect positive correlation (D) T" W
(E) Not attempted (E) mﬁmﬂmmm TRhEYy
63. is known as serum hepatitis.
itis B (B) Hepatiti = ""Eﬁmmﬁ’smﬁm
7(A) Hepatitis patitis C EIG1 )
ey D H Y] A
(C) Hepatitis E (D) Hepatitis A ((C: iy g (B) ¥ o
(E) Not attempted () s E (D) ¥ereom A
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V I —
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| je 3L

AT AT
€ 10k p0p) CG - SN23
ﬁ: ; U aqfram & @14
ABCDEFandGaresevenmembers 64. ABC [)EFW;C- TR ID, C
/6" ofafamily. B is the mother of E. C is W!IB,E’ﬁmﬂT 'G#ﬁmilﬁ.ﬁ
the son of E. D is the only sister of C i Gﬁwm*‘i :m i
and G. E is the father of G. A is the *mmﬁmiu(,.c.- i
parent of E. K 1: tl:eBp;rent of G. K B & faa T wafaa
How is K relatf‘-‘ 10 1&“@ (A) TH9Y
A7) paughter 1n law @ (B)
(B) Father (C) mral
(C) Mother (D) TR
(D) paughter (E) Sranfed
(E) Not attempted & forcht a1 7@ g ATt T4
The smallest unit that can be written 65. g‘: 2
wE
65- ¢ isk is a ELEE
to or read from the dis 5% ) T
(A) Soesar T (B 3w
(B) Backup (©)
+(C) Memory (D) 3%
(E) =
(D) Track
(E) Not attempted e s e
in which 66. — - g FQ ¥ T
is the process I WI}:IC 77 I £
86 iforent people or BINES W frera 7 T
together to attain S A) —
aims B Hﬂd
Communication (B)
(A) () @I=
(B) Conflict _ i ;
(&) Coordinationt () —
, (D) Cooperation . —— 2 forad a1 Y IedAaH
(E) Not attempt€ o —=a2s
value which has gt gl
is the of data. (A) AP
67. mucncy 6
(A) Mode (©) groft
(B) Median D) qe
(D) Mean
(E) Not attempted S

=
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68. Flhlorobenzene can be converted
mto_ by heating in aqueous
sodium hydroxide solution at a
temperature of 623 K and a pressure
of 300 atmospheres.

(A) acetone (B) phenol
(C) aniline ¢ (D) benzene

(E) Not attempted

69. The term enteric fever includes

R s

(A) Flu fever
,(B) Typhoid fever E’il B

(C) Dengue haemorrhagic fever

(D) Malaria fever

(E) Not attempted

Average daily fluid intake for adult is

about ______ ml
(A) 500-900

.(B) 1000-1400

~1C) 1500-2000

(D) 100-400

(E) Not attempted

70.

71. Riboflavin is also called as
(A) Vitamin B, ,
(B) Vitamin B,
(C) Vitamin B,
+(D) Vitamin 32
(E) Not attempted
72. is another person or
animal where organism is nourished
and harboured.
AA) Reservoir (B) Carrier

(C) Vehicle (D) Host
(E) Not attempted

D

-16-

68.

69.

70.

71.

72.

FTEAT F 623 K A 3 300
aifeTm FEFEES

CG - SN23

ST ﬁl’c‘ﬁ%l

(A) 500-900
(B) 1000-1400
(C) 1500-2000
(D) 100-400

(E) IrEmd

ek

(4) fafm B, ,
() faerfi= B,
ORECALER:N
(D) faerfim B,
(E) ted

 rd s wfa 9 AR R e S
%1 qreor gar 2 3t 38 snua fear

(A) AT
(C) ar&d
(E) Fwanfad

(B) dTEh
(D) BSEH

('.'amScaaner
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ﬁ alism 18 propagated by 73. qEAEG w
Stfuctur " Gﬂiﬂ? '
. es 10}
P e 2 e
B) gmund Frevd T (B fems FE
[ .
() Wilhelm wundt © ﬁ@;'ﬁm
’l John B: Watson (D) %
19 (E) e
ttempted
B) Not @ o a1 a7 2
e classical dance of Tamil Naduis | 74. aﬁ—‘:i B) A
1 ™ sk (B) Mohiniyattam ® (D) AT
Ka §d|5él
i K chipudi (D) Bharatnatyam ©
(E) Not attempth - A 2 fifaa @@ T
75. i
is the science that deals il ¥y @ eifd ¢ |

s — drugs on living 1
—ith the effects of A8 () A

system. B mﬂﬁﬁﬂm

, ( A) PharmaC()lOg

kinetics
(B) Pharmaco i
) pharmacodynamics (D) mﬁﬁ
(D) Pharmacy " Y
(E) Not attempted i @ :
76.
s an equation that perfor™® W ¥ T
6. A__—!
operations 0N worksheet data.- (A e Y At
pe “ (B) ExpreSSion (C) a,a (D]
/(A) Formu
:c: Cell (D) Libray (E) F o
@5E CIS
attempted A o 1 W
(E) Not I A

d Wﬂu
M. n____— f the husba?
use © (B)
¢ () T

and lives in the b

after marriage- - trilocal Wa
) Matrilocal ! Paml aal @ e
iloC
©) Neolocal @) P2 (E) D

(E) Not attempted
-17-
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78.

79.

80.

81.
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Sirsa is the lar
: t
in Haryana. Ee producerol___

(A) Rice (B o
(C) Bajra ¢ (D) Wheat
(E) Not attempted

The term disease
refers specifically to all current cases
(old and new) existing at a given point
in time or over a period of time in a
given population.
(A) Incidence
(C) Detection

,(B) Prevalence

A healthy mother while breastfeeding
will produce about of
breast milk per day.

(A) 100-200 ml
(B) 300-400 ml
{(C) 500-900 ml
(D) 10-100 ml

(E) Not attempted

Heart is in the cavity.

(A) Pelvic +(B) Thoracic

(C) Cranial (D) Abdominal

(E) Not attempted

Father of immunology is
(A) Robert Koch
(B) Edward Jenner
(C) Louis Pasteur
+ (D) Antony Van Leeuwenhoek
(E) Not attempted

(D) Diagnosing%%@
(E) Not attempted DS

.18-

79.

81.

Mﬁﬁaammmﬁﬂﬁﬁfﬁﬁm
3 ama  yafu d Ag A

(A) T (B) TET

(C) Tal ETH (D) FraA

(E) Fsantad

Wﬁﬁ%ﬁtﬁﬁwﬁuﬁr&wm
gy &1 IaeA H |

(A) 100-200 foreft
(B) 300-400 freht
(C) 500-900 firedt
(D) 10-100 freft

(E) FwEnféd

B

(% CamScanner
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are innate and inborn

g aencies oF peychologica
dis .
rception AB) Instincts

il PR
Mouvatmn (D) Senses

:El Not attempted

The constant te
16

gh-
Of (xz - "_lﬁ') iS

16
© €10
(E) Not attempted

. (B) 16C9
16
(D) "Cq

is a system of storage

T
and transport of
temperature from

to the actual vaccination site.

(A) Ice packs
{(C) Cold chain (D
(E) Not attempted

) Hot chain

86. _ is an output device
draws pictures on paper based on

ands from & computer.
,(B) Plotter

(A) Laser
(D) Inkjet

(C) Dot Matrix
(E) Not attempted
- is the on¢€ in which
researcher collects data at the
particular point of time.
¢ (A) Longitudinal res€
(B) Trend studies
(C) Panel studies
(D) Cross-sectional msearcp gcsign
(E) Not attempted EI 2

87,

rm in the expansion

vaccines at low
the manufacturer

(B) Vaccine carriers

that

_19-

83.

36.

87.

CG - S8N23
 yererta st s st
g w@vra ¥
(A) Ffa (B) aEA 3
(C) STt (D)

(E) rwarfea
1 16
(x —?] 3 fareare & e 7z 2
a) ec, B) '°c,
© °Cyo D) '°c,
(E) IEd
Pmtar & arefas JHH =

ﬁqa;gmﬁﬂ%l

(A)atﬁ%»:ﬂa; (B) 1 A

(c) 34 A (D) ™ ¥

(E)mﬁm
@MW%@W#

m%mmmmﬁaﬂmﬂl

(A) TR (B) <l

(C)sfzﬁfzaﬂ (D]s'aﬁz

(E)mﬁﬂ
aa%ﬁwﬁaqgémﬂn‘rﬁﬁmﬁ

ﬁ%mﬁgmﬁﬂwwil

(A) sged srgEu T

(B)nqﬁym

(c) e AT

(D) qnagmrﬂﬂaqgamfgam

(E)mﬁm

C&n‘rSL'mmEI
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88. The famous Dal Lake is formed by

this river
’(A) The Jhelum (B) The Ravi
(C) The Beas (D) The Chenab

(E) Not attempted

89. Chickenpox is transmitted from
infection

person to person by
(A) Vecton -
7(B) Droplet ﬁg
(C) Vehicle

(D) Dust
(E) Not attempted

a is defined as a plasma

sodium level less than -
(B) 150

(A) 140
.(D) 135

(C) 160
(E) Not attempted

91. The normal life span of RBC is about

(A) 112 days
_AB) 120 days

(C) 122 days

(D) 102 days

(E) Not attempted

_is the difference between
the higl;e;! and the lowest value of
the data.

(A) Quartile deviation
1\ (B) Mean deviation

(C) Range

(D) Standard deviation
(E) Not attempted

D .20-
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Measles is also known as 93. WHU FH ®H W A o
(a) Rubella (A) ®AE
(B) German measles (B) aﬂ:‘ G o]
(C) Mumps (C) WeH
AD) Rubeola (D) =fasen
(E) Not attempted (E)
§18 17 5 forft 1702 %
A bag contains 17 tickets numbered 94. TH R sl SN |
" from 1 to 17. A ticket is drawn at mg%ﬁﬁ ®q feahe rﬂiﬁlﬁl
random, then another ticket is drawn fopr 38 amam @ fa zaft 77'3.4 Z [fﬁﬁl;ﬂ
without replacing the first one. The 2 | 2 Erapdi T HH 2 £
probability that both the tickets may et N
show even numbers is arfeRdl :
v T (a) o ®) -
(A) et \B) 1o e A 17 16
17 7
7 L
7 i () = (D) 34
<) — (D) 34 17
17
E) gEnEd
(E) Not attempted (E)
g1 =4
95 drug applied to the os5. TUHM HHAT %qffﬂl f%'&‘:; = il
- _._-_.——'—_____ )
skin or mucous membrane at various o1 versq1 T SHIH | areft
m#xm sites for localized action. A) o (B) T
:ﬁ%ﬁl (A) Systemic (B) Enteral ) . D) e
(D) Topical
(C) Parenteral ( -
ttempted
e 96 ﬁqﬁ!ﬁﬂaﬁﬁaﬂﬂ-mﬁa:mmaﬁwﬁ?
96. Which of the followhs Opﬁo? (1::2:3 c:: T AR w1 O e A=A 'nT; T an
’ ele N .
to add a border around a :; s i o NI algﬁﬁ'i o
change the colour of the pap 5
a selection ? . aum;
h ) =
1 (A) Paragrap
(B) Text wrap (C) aﬂaﬂ!
S1©) Columns _ (D) «Tdx ug AfEn
(D) Borders and shadin () st D
(E) Not attempted
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Ha 1 is an example of nominal 97. Siferer Sy 39 T ITE R |
evel measurement. () AT
(A) Temperature
(B) Heallt)h status (B) @ feufa
(C) Weight (C)
*(D) Gender (D) fem
(E) Not attempted (E)
98. Maharaja Agrasen was associated 98. IIG'RTT'“ e 'R # fpm wH a
with which place of Haryana ? waftra & 7
(A) Pehowa (A) e
(B) Rohtak (B) j;‘:
(C) Agroha r(C)
(D) Sirsa (D) ferza
(E)

(E) Not attempted

is called as slim disease.

99.
(A) AIDS _
(B) Chlamydia g
(C) Gonorrhoea (C) g3
. (D) Syphilis (D) 39
(E) Not attempted (E) TsEméa
100. An pregnancy is one in | 100. T® e @ # el ﬁiﬁﬁ
which the fertilized ovum is implanted feq warfta gar 8 3R aW wemfae
and develops outside the normal FyA ¥ are fawfa ar ? |
dometrial cavity.
en e cavity A)
(A) interstitial
. (B) reATfAH
f (B) ectopic :
(C) ovarian a5 () feramfa
(D) abdominal e} (D) %
(E) Not attempted (E) TvaTEd
D -22-
e
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